Homework 1
SNU 4910.210, Fall 2012
Kwangkeun Yi
due: 9/14(Fri), 24:00
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1«On Computable Numbers, with an Application to Eintscheidungsproblem”, Proceedings
of the London Mathematical Society, ser.2, vol.42, pp.230-265., 1936.
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ON = (cons ’z N)
+N = (cons ’p IN)
-N = <(cons ’n N)
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(cons ’z (cons ’p ’n))

0+- = (cons ’z +-)
= (cons ’z (cons ’p -))

= (cons ’z (cons ’p ’n)).



A o)A, 9% ol EEEL 205 E Bolx] 1A G ANFE B4
crazy2valS Ao slel

O

Exercise 7 “224 317"
F 22155 Wola] 205:9] ol BB ek 2055 ol 3
el st}

o
rlr

&= crazy2add &

2] 2~
.

[\

crazy2add : 2214 % 224 —
9] crazy2adais th29] A 7o] BES of 3}
o Foldl, Qelo) 2215 = o] alA
(crazy2val (crazy2add z z')) = (crazy2val z) + (crazy2val z').
e crazy2add A7 o2 Aol of Fr}. 234E 1035-2 AP T3
A TA] 2342 F¥ e A2 3.

2a¢%mwmwm&wdwéﬂa%agﬁﬂﬂ¢¢ﬂd—aﬂ
A wEo] Atk o)A AUSE A oW 2}
8 AR FBE, d; +di + ;5 i = 02F HaHA T 5 9

S
i
2
uir}
2
rlo
P
5 8
£



